KEAEBDINER

BEREL 2 —
1 REE=E
HERIERTR ==X v] FE = 4 R 5R 6 A 7 R 8 A 9 R 10A | 118 | 12A 1A 2R 38 =
B 5 FkWh| R6 - 3.0382 | 2.9441 | 2.9351 | 0.3036 0.5027 | 1.5987 | 1.2509 | 0.9063 | 0.4244 | 0.7552 | 0.8471 | 1.2496 || 16.7559
i el FkWh| R5 - 3.1660 | 3.9728 | 3.2253 | 2.4878 4.2559 | 2.5983 | 2.1756 | 1.2237 | 0.9014 | 1.0946 | 1.7299 | 2.0556 || 28.8869
2 HEBEEHE
W 5% & R ==X v] FE = 4 R 5R 6 A 7 R 8 A 9 R 10A| 118 | 12A 1A 2R 38 =
g 5T kW h R6 - 29,608 | 27,884 | 29,805 | 28,754 39,353 | 32,429 | 26,871 | 31,816 | 34,644 | 35,325 | 34,277 | 35,630 |[ 386, 396
7
kW h R5 - 24,566 | 22,043 | 29,775 | 41,178 46,856 | 50,308 | 31,666 | 30,124 | 34,401 | 34,635 | 35 060 | 34,6856 || 415, 467
3 KEBRARERBEHAZVIAHILTSHOHEBEHICHEYULEEHE (KBAREXEBEEHE- VI HIILTSHEBEHE)
M 5% & R ==X v] FE k= 4 R 5R 6 A 7 R 8 A 9 R 10A| 118 | 12A 1A 2R 38 Ety
. % R6 - 10.26 | 10.56 9.85 1.06 1.28 4.93 4. 66 2.85 1.23 2.14 2.47 3.51 4.34
DAY ILTSH 2
% R5 - 12.89 | 18.02 [ 10.83 6.04 9.08 5.16 6. 87 4.06 2.62 3.16 4.93 5.90 6.95
4 CO,L,NHIFEHNE (REE xFHRE)
FHEAK ==X v] FE 3 4 R 5R 6 A 7 R 8 A 9 R 10A| 118 | 12A 1A 2R 38 &%
A BRE t—CO,| R6 0.474 1.44 1.40 1.39 0.14 0.24 0.76 0.59 0.43 0.20 0.36 0. 40 0.59 7.94
) = t—CO,| R5 0.476 1.51 1.90 1.54 1.19 2.03 1.24 1.04 0.58 0.43 0.52 0.83 0.98 13.78
5 RmhHE(E
HKEAHR BAfL E£E | #285%%#%| 4A 5H 6 A 7R 8 H 9A 108 | 11A | 12A 1H 2R 3 A =X
KBS 1y kJL| R6 257 3% 780.8 | 756.6 | 754.3 78.0 129.2 | 410.9 | 321.5| 232.9 | 109.1 194. 1 217.7 321.1 || 4, 306.2
) Jsw kJL| RS 257 % 813.7 [1,021.0 | 828.9 | 639.4 | 1,093.8 | 667.8 | 559.1 314.5 | 231.7 | 281.3 | 444.6 528.3 || 7,424.1
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